
INSTALLATION INSTRUCTIONS

I-751052008
Page 1 of  12

There may be recent updates to this Instruction Sheet, please visit our website or contact PanaVise Products, Inc. for the latest revision as well as for the most

complete up-to-date PanaVise InDash Applications List:  7540 Colbert Dr., Reno, NV, Phone: 800.759.7535, 775.850.2900, Fax: 800.395.8002,

www.panavise.com. © 2016 PanaVise Products, Inc.

12-13-17

MOUNTING LOCATION:

Right side of radio cavity K R

(2) Locations, Lower R and Upper R

TOOLS REQUIRED:

Hook tool, Dash Tool, 7mm

Phillips screwdriver, T-20 Torx

PARTS INCLUDED:

(1)S7-1981,S7-1932(75001)

(Radio, MyGig/Nav Mount)

* *  ADVISEMENT  * *
Read instructions completely prior to

starting installation. All InDash Mounts

are designed so that after installation, phone

is facing normal driver position for left-

hand drive vehicles. This mount is not

designed to be used in foreign countries

with right-hand drive vehicles. Use extreme

care when working around the plastic

components on the dash.  Excess force, can

cause breakage of  the plastic components.

:PART#:751052008 **

MFG: CHRYSLER/DODGE/JEEP/VW

MODELS & YEARS:
JEEP-Wrnglr/Ultd.(8-10)pg.1Wrangler(11-17),JK(2018)pg.2

Liberty(8-12),CHRY-200(11-14)pg.3DODGE:Dakota(8-11)CHRY-

Sebrng&conv(7-10)pg.4

DODGE-Avenger(8-10),Avenger(11-14)pg.5

JEEP-GrCherokee(8-10)Cmnder(8-10)pg.6

DODGE-GR.Caravan(8-10)(11-17),CHRY-T&C(8-10)(11-16)pg.7

JEEP-Patriot(09-15)Compass(09-11)pg.8

CHRY-300C(8-10),Magnm(08),Charger(8-10)pg.9

DODGE-Durango(8-09)Aspen(8-09)pg.10

DODGE-Challenger(9-14)pg.11Nitro(8-11)pg.11

Caliber(9-10)(11-12)pg.11Journey.ex.R/T(09-10)pg.12

DODGE-RAM 1500(9-12)2500-5500cons.shft,pg.12

2500-5500cons.shft,(10-12)pg.12

DODGE-RAM 1500(9-11)2500-5500cons.shft,pg.12

RAM 1500(9-11)colmn.shft,pg.12

RAM 2500-5500(10-11)cons.shft,pg.12VW-Routan13-15,pg.12

STEP #1: With Hook/Dash Tool remove the lower cover plate by inserting Hook Tool into

the upper right then left corner, pulling to release (1) clip on each side. Tilt it out and pull up

to remove. Set cover aside.

STEP #2: To remove the top cover above the radio. With the Hook Tool, lift up on the front

of the top cover to release (1) clip on each side. Tilt up the front of the cover and pull it

towards you to release. Set it aside.

STEP #3: With 9/32" socket driver remove the (4) screws, (2) top and (2) bottom. With your

hands starting at the top of the radio, release the bezel that goes from the top of the radio

down to below the switches and power outlet. There are (6) total clips only as far as needed

to get at the right side radio screws.

STEP#4: Remove the (2) screws with 7mm socket driver. Install bottom piece of InDash by

PanaVise Mount over screw holes and reinstall the (2) screws. Replace the bezel starting at the

bottom, tilting it into place.

STEP#5: Install the top part of InDash by PanaVise Mount with the (2) Acorn nuts.

INSTALLATION IS NOW COMPLETE.  ENJOY YOUR NEW INDASH by PANAVISE MOUNT.

Lower Cover Plate

Top cover Plate

InDash Mount in place showing location

Start here for Jeep Wrangler 2008-2010 (See new instructions for 11-17)pg.2:



CELL PHONE & MEDIA MOUNT

INSTALLATION INSTRUCTIONS

I-751052008
Page 2 of  12

There may be recent updates to this Instruction Sheet, please visit our website or contact PanaVise Products, Inc. for the latest revision as well as for the most

complete up-to-date PanaVise InDash Applications List:  7540 Colbert Dr., Reno, NV, Phone: 800.759.7535, 775.850.2900, Fax: 800.395.8002,

www.panavise.com. © 2016 PanaVise Products, Inc.

MOUNTING LOCATION:

Right side of radio cavity K R

(2) Locations, Lower R and Upper R

TOOLS REQUIRED:

Hook tool, Dash Tool, 7mm

socket

Phillips screwdriver, T-20 Torx

HARDWARE INCLUDED:

75001 Top W/ (2) O - 8-32 Acorn Nuts

(Radio, MiGig/Nav, Mount)

Start here for: JEEP-Wrangler 2011-17

STEP#1: Lift out top of dash tray, with 9/32(7mm) socket, remove the (1) screw in the tray.

STEP#2: Release the clips that hold the drivers knee panel in place. (2) at the R & L of steering column.

Pull to release (2) more clips at the top sides as well.Tilt down the panel to release L- prongs from the

bottom and set aside.

With 9/32(7mm) socket remove the (2) exposed screws to the R & L of steering column. Tilt the steering

wheel down all the way.

STEP#3: Start to remove the large bezel that goes from the drivers door, around the IP, and includes the

top tray, surrounds the radio, includes the air vents, and window switches. NOTE: Prying out the climate

control from the side will help release the bezel under the air vents. Clips are located (2) to the L of the

drivers door air vents, (3) over IP, (2) behind dash top tray, (2) to R & L of radio, (2) in the center of air

vents R&L, (4) below center air vents.

STEP#4: Remove the (2) right side radio mounting screws and place the InDash by PanaVise bottom

piece over the screw holes and replace the screws.

STEP#5:Replace the bezels in reverse order. Install the top piece 75001 of the mount with the (2) 8-32

Acorn Nuts.

INSTALLATION IS NOW COMPLETE, ENJOY YOUR NEW INDASH BY PANAVISE MOUNT!

Jeep Liberty 2011 Final Install

Liberty Bottom Part Install

Screws Under Knee Panel

Knee Panel Removal

Screw Under Top Dash Tray

12-13-17

* *  ADVISEMENT  * *
Read instructions completely prior to

starting installation. All InDash Mounts

are designed so that after installation, phone

is facing normal driver position for left-

hand drive vehicles. This mount is not

designed to be used in foreign countries

with right-hand drive vehicles. Use extreme

care when working around the plastic

components on the dash.  Excess force, can

cause breakage of  the plastic components.

:PART#:751052008 **

MFG: CHRYSLER/DODGE/JEEP/VW

MODELS & YEARS:
JEEP-Wrnglr/Ultd.(8-10)pg.1Wrangler(11-17),JK(2018)pg.2

Liberty(8-12),CHRY-200(11-14)pg.3DODGE:Dakota(8-11)CHRY-

Sebrng&conv(7-10)pg.4

DODGE-Avenger(8-10),Avenger(11-14)pg.5

JEEP-GrCherokee(8-10)Cmnder(8-10)pg.6

DODGE-GR.Caravan(8-10)(11-17),CHRY-T&C(8-10)(11-16)pg.7

JEEP-Patriot(09-15)Compass(09-11)pg.8

CHRY-300C(8-10),Magnm(08),Charger(8-10)pg.9

DODGE-Durango(8-09)Aspen(8-09)pg.10

DODGE-Challenger(9-14)pg.11Nitro(8-11)pg.11

Caliber(9-10)(11-12)pg.11Journey.ex.R/T(09-10)pg.12

DODGE-RAM 1500(9-12)2500-5500cons.shft,pg.12

2500-5500cons.shft,(10-12)pg.12

DODGE-RAM 1500(9-11)2500-5500cons.shft,pg.12

RAM 1500(9-11)colmn.shft,pg.12

RAM 2500-5500(10-11)cons.shft,pg.12VW-Routan13-15,pg.12



CELL PHONE & MEDIA MOUNT

INSTALLATION INSTRUCTIONS

I-751052008
Page 3 of  12

MOUNTING LOCATION:

Right side of radio cavity K R

(2) Locations, Lower R and Upper R

TOOLS REQUIRED:

Hook tool, Dash Tool, 7mm

socket

Phillips screwdriver, T-20 Torx

HARDWARE INCLUDED:

75001 Top W/ (2) O - 8-32 Acorn Nuts

(Radio, MiGig/Nav, Mount)

There may be recent updates to this Instruction Sheet, please visit our website or contact PanaVise Products, Inc. for the latest revision as well as for the most

complete up-to-date PanaVise InDash Applications List:  7540 Colbert Dr., Reno, NV, Phone: 800.759.7535, 775.850.2900, Fax: 800.395.8002,

www.panavise.com. © 2016 PanaVise Products, Inc.

12-13-17

Start here for: JEEP-Liberty 08-12

STEP#1: Apply Brake, shift into Neutral. Lift up on back of the console bezel, pulling

to release (2) clips. Continue lifting to release (2) more front clips. Lift off bezel and

disconnect plug(s) and set aside.

STEP#2: Pull off bezel that surrounds the radio/nav and includes the air vents, climate

control, and switches. Start at the top of the air vents. Pry with dash tool at top to

release (1) clip on each side. Note: side strips will come off with the bezel. Continue to

release (2) more clips to the R & L of radio/nav. Tilt out and release last (2) clips at

bottom below switches. Pull out enough to get at right side radio/nav screws.

STEP#3: Remove the (2) screws with Phillips screwdriver. Install bottom piece of

InDash by PanaVise Mount over screw holes and reinstall the (2) screws. Replace the

bezel starting at the bottom, tilting it into place.

STEP#4: Install the top part of InDash by PanaVise Mount with the (2) Acorn nuts.

INSTALLATION IS NOW COMPLETE, ENJOY YOUR NEW INDASH BY PANAVISE MOUNT!

Removal of Bezel

Jeep Liberty 2011 Install

Start here for: Chrysler 200 2011-14

STEP#1:With Dash tool pry off bezel that vsurrounds the radio and includes the air

vents, and switches. start at the lower right side of the bezel. Continue to pry off bezel

releasing  (7) clips total. Disconnect any plugs and set bezel aside.

STEP#2: Remove the (2) screws with Phillips screwdriver. Install bottom piece of

InDash by PanaVise Mount over screw holes and reinstall the (2) screws. Replace the

bezel starting at the bottom, tilting it into place.

STEP#3: Install the top part of InDash by PanaVise Mount with the (2) Acorn nuts.
INSTALLATION IS NOW COMPLETE, ENJOY YOUR NEW INDASH BY PANAVISE MOUNT!

Chrysler 200 bottom in place

Chrysler 200 installed

* *  ADVISEMENT  * *
Read instructions completely prior to

starting installation. All InDash Mounts

are designed so that after installation, phone

is facing normal driver position for left-

hand drive vehicles. This mount is not

designed to be used in foreign countries

with right-hand drive vehicles. Use extreme

care when working around the plastic

components on the dash.  Excess force, can

cause breakage of  the plastic components.

:PART#:751052008 **

MFG: CHRYSLER/DODGE/JEEP/VW

MODELS & YEARS:
JEEP-Wrnglr/Ultd.(8-10)pg.1Wrangler(11-17),JK(2018)pg.2

Liberty(8-12),CHRY-200(11-14)pg.3DODGE:Dakota(8-11)CHRY-

Sebrng&conv(7-10)pg.4

DODGE-Avenger(8-10),Avenger(11-14)pg.5

JEEP-GrCherokee(8-10)Cmnder(8-10)pg.6

DODGE-GR.Caravan(8-10)(11-17),CHRY-T&C(8-10)(11-16)pg.7

JEEP-Patriot(09-15)Compass(09-11)pg.8

CHRY-300C(8-10),Magnm(08),Charger(8-10)pg.9

DODGE-Durango(8-09)Aspen(8-09)pg.10

DODGE-Challenger(9-14)pg.11Nitro(8-11)pg.11

Caliber(9-10)(11-12)pg.11Journey.ex.R/T(09-10)pg.12

DODGE-RAM 1500(9-12)2500-5500cons.shft,pg.12

2500-5500cons.shft,(10-12)pg.12

DODGE-RAM 1500(9-11)2500-5500cons.shft,pg.12

RAM 1500(9-11)colmn.shft,pg.12

RAM 2500-5500(10-11)cons.shft,pg.12VW-Routan13-15,pg.12



CELL PHONE & MEDIA MOUNT

INSTALLATION INSTRUCTIONS

I-751052008
Page 4 of  12

MOUNTING LOCATION:

Right side of radio cavity K R

(2) Locations, Lower R and Upper R

TOOLS REQUIRED:

Hook tool, Dash Tool, 7mm

socket

Phillips screwdriver, T-20 Torx

HARDWARE INCLUDED:

75001 Top W/ (2) O - 8-32 Acorn Nuts

(Radio, MiGig/Nav, Mount)

There may be recent updates to this Instruction Sheet, please visit our website or contact PanaVise Products, Inc. for the latest revision as well as for the most

complete up-to-date PanaVise InDash Applications List:  7540 Colbert Dr., Reno, NV, Phone: 800.759.7535, 775.850.2900, Fax: 800.395.8002,

www.panavise.com. © 2016 PanaVise Products, Inc.

12-13-17

Start here for DODGE-Dakota 08-11

STEP#1: With dash tool, insert it into the lower left of radio/climate control

bezel, pry and pull to release (1) clip. Repeat on right side. Pry at top of bezel to

release (1) clip each side, (4) clips total. Set bezel aside

STEP#2: Remove the (2) screws with Phillips screwdriver. Install bottom piece

of InDash by PanaVise Mount over screw holes and reinstall the (2) screws.

Replace the bezel.

STEP#3: Install the top part of InDash by PanaVise Mount with the (2) Acorn

nuts.
INSTALLATION IS NOW COMPLETE, ENJOY YOUR NEW INDASH BY PANAVISE MOUNT! Final Install Picture, Dakota

STEP #1: With hook tool, remove the air vent bezel that surrounds the radio by

inserting the hook tool into the bottom corner Left or Right below the

emergency flasher. Pull to release (1) clip on each side. Continue up the bezel

releasing (2) more clips. Pull the bezel out releasing top lugs. Disconnect clock

plug. Lay bezel onto towel on console.

STEP #2: With T-20 Torx driver, remove (2) right radio screws. Install bottom

piece of InDash by PanaVise Mount over screw holes and reinstall the (2)

screws. Replace the bezel.

STEP#3: Install the top part of InDash by PanaVise Mount with the (2) Acorn

nuts. Replace the bezels in reverse order.

INSTALLATION IS NOW COMPLETE.  ENJOY YOUR NEW INDASH by PANAVISE MOUNT.

Start here for Chrysler Sebring & Conv. 07-10

Final Install Picture, Sebring

* *  ADVISEMENT  * *
Read instructions completely prior to

starting installation. All InDash Mounts

are designed so that after installation, phone

is facing normal driver position for left-

hand drive vehicles. This mount is not

designed to be used in foreign countries

with right-hand drive vehicles. Use extreme

care when working around the plastic

components on the dash.  Excess force, can

cause breakage of  the plastic components.

:PART#:751052008 **

MFG: CHRYSLER/DODGE/JEEP/VW

MODELS & YEARS:
JEEP-Wrnglr/Ultd.(8-10)pg.1Wrangler(11-17),JK(2018)pg.2

Liberty(8-12),CHRY-200(11-14)pg.3DODGE:Dakota(8-11)CHRY-

Sebrng&conv(7-10)pg.4

DODGE-Avenger(8-10),Avenger(11-14)pg.5

JEEP-GrCherokee(8-10)Cmnder(8-10)pg.6

DODGE-GR.Caravan(8-10)(11-17),CHRY-T&C(8-10)(11-16)pg.7

JEEP-Patriot(09-15)Compass(09-11)pg.8

CHRY-300C(8-10),Magnm(08),Charger(8-10)pg.9

DODGE-Durango(8-09)Aspen(8-09)pg.10

DODGE-Challenger(9-14)pg.11Nitro(8-11)pg.11

Caliber(9-10)(11-12)pg.11Journey.ex.R/T(09-10)pg.12

DODGE-RAM 1500(9-12)2500-5500cons.shft,pg.12

2500-5500cons.shft,(10-12)pg.12

DODGE-RAM 1500(9-11)2500-5500cons.shft,pg.12

RAM 1500(9-11)colmn.shft,pg.12

RAM 2500-5500(10-11)cons.shft,pg.12VW-Routan13-15,pg.12



CELL PHONE & MEDIA MOUNT

INSTALLATION INSTRUCTIONS

I-751052008
Page 5 of  12

MOUNTING LOCATION:

Right side of radio cavity K R

(2) Locations, Lower R and Upper R

TOOLS REQUIRED:

Hook tool, Dash Tool, 7mm

socket

Phillips screwdriver, T-20 Torx

HARDWARE INCLUDED:
75001 Top W/ (2) O - 8-32 Acorn Nuts

(Radio, MiGig/Nav, Mount)

There may be recent updates to this Instruction Sheet, please visit our website or contact PanaVise Products, Inc. for the latest revision as well as for the most

complete up-to-date PanaVise InDash Applications List:  7540 Colbert Dr., Reno, NV, Phone: 800.759.7535, 775.850.2900, Fax: 800.395.8002,

www.panavise.com. © 2016 PanaVise Products, Inc.

12-13-17

Start here for  DODGE-Avenger 08-10
STEP#1: Apply brake, Shift into D. With dash tool, remove shifter bezel that goes up the sides

of the climate control. Insert it into the top left or right of climate control and pull to release (1)

clip each side. Continue by sliding bezel back and up around shifter bezel area to release (4) L-

shaped clips. The cubby is included, and shifter bezel ring.

STEP#2: Insert dash tool into winged clips. Push and pry up to release (1) clip on each side.

With hands pull out the bezel below the power outlet releasing (2) plastic clips. Continue up the

bezel that includes the climate control and air vents with a total of (10) clips. Pull out the bezel

and set it down

STEP #3: Remove the (2) T-20 torx screws on the right side of the radio. Install bottom piece of

InDash by PanaVise Mount over screw holes and reinstall the (2) screws. Replace the bezels in

reverse order. Install top on to bottom piece. Shifter bezel needs to be reinstalled, shifted back,

and slid forward to lock the (2) clips by the climate control in place.  Install the top part of

InDash by PanaVise Mount with the (2) Acorn nuts.

 INSTALLATION IS NOW COMPLETE, ENJOY YOUR NEW INDASH BY PANAVISE MOUNT!

Finished Install of

08-10 Avenger

Start here for  DODGE-Avenger 11-14
STEP#1: Insert the dash tool into the crack between the top dash bezel beside the air vents and

twist to separate the top. Repeat on the other side. Continue to remove the top bezel by lifting up

and pull towards you releasing (7) clips.

STEP#2: With your hands, pull on the top of the airvent, radio, switch bezel, releasing (6) clips.

you may need to use dash tool to the R & L side of the radio.

STEP#3: With T25 Torx Driver, remove the (2) right side radio screws. Place the bottom piece

of the InDash by PanaVise Mountover the screw holes and replace the screws.

STEP#4: Reinstall the radio-airvent bezel, and dash top bezel. Install the top part of InDash by

PanaVise Mount with the (2) Acorn nuts using 5/16" wrench.

INSTALLATION IS NOW COMPLETE, ENJOY YOUR NEW INDASH BY PANAVISE

MOUNT!

Finished Install of

11-12 Avenger

* *  ADVISEMENT  * *
Read instructions completely prior to

starting installation. All InDash Mounts

are designed so that after installation, phone

is facing normal driver position for left-

hand drive vehicles. This mount is not

designed to be used in foreign countries

with right-hand drive vehicles. Use extreme

care when working around the plastic

components on the dash.  Excess force, can

cause breakage of  the plastic components.

:PART#:751052008 **

MFG: CHRYSLER/DODGE/JEEP/VW

MODELS & YEARS:
JEEP-Wrnglr/Ultd.(8-10)pg.1Wrangler(11-17),JK(2018)pg.2

Liberty(8-12),CHRY-200(11-14)pg.3DODGE:Dakota(8-11)CHRY-

Sebrng&conv(7-10)pg.4

DODGE-Avenger(8-10),Avenger(11-14)pg.5

JEEP-GrCherokee(8-10)Cmnder(8-10)pg.6

DODGE-GR.Caravan(8-10)(11-17),CHRY-T&C(8-10)(11-16)pg.7

JEEP-Patriot(09-15)Compass(09-11)pg.8

CHRY-300C(8-10),Magnm(08),Charger(8-10)pg.9

DODGE-Durango(8-09)Aspen(8-09)pg.10

DODGE-Challenger(9-14)pg.11Nitro(8-11)pg.11

Caliber(9-10)(11-12)pg.11Journey.ex.R/T(09-10)pg.12

DODGE-RAM 1500(9-12)2500-5500cons.shft,pg.12

2500-5500cons.shft,(10-12)pg.12

DODGE-RAM 1500(9-11)2500-5500cons.shft,pg.12

RAM 1500(9-11)colmn.shft,pg.12

RAM 2500-5500(10-11)cons.shft,pg.12VW-Routan13-15,pg.12



CELL PHONE & MEDIA MOUNT

INSTALLATION INSTRUCTIONS

I-751052008
Page 6 of  12

MOUNTING LOCATION:

Right side of radio cavity K R

(2) Locations, Lower R and Upper R

TOOLS REQUIRED:

Hook tool, Dash Tool, 7mm

socket

Phillips screwdriver, T-20 Torx

HARDWARE INCLUDED:

75001 Top W/ (2) O - 8-32 Acorn Nuts

(Radio, MiGig/Nav, Mount)

There may be recent updates to this Instruction Sheet, please visit our website or contact PanaVise Products, Inc. for the latest revision as well as for the most

complete up-to-date PanaVise InDash Applications List:  7540 Colbert Dr., Reno, NV, Phone: 800.759.7535, 775.850.2900, Fax: 800.395.8002,

www.panavise.com. © 2016 PanaVise Products, Inc.

12-13-17

Start  here for: JEEP-Grand Cherokee 08-10

STEP#1: With dash tool,  lift up on the shifter bezel trim ring, releasing (4)

ratcheting clips. Pry  up the shifter bezel releasing (4) clips and set aside.

STEP#2: With hook toll release the bezel that surrounds the radio includes the

climate control and lower switches, and the air vents as well. Begin by inserting

the hook tool in the lower left corner of the bezel using the holes at the bottom

of the bezel. Work your way up to the top of the bezel and to the outside of the

center air vents to release (10) total clips.

STEP#3: Remove the (2)  screws on the right side of the radio. Install bottom

piece of InDash by PanaVise Mount over screw holes and reinstall the (2)

screws. Replace the bezels in reverse order.

STEP#4: Install the top part of InDash by PanaVise Mount with the (2) Acorn

nuts.
INSTALLATION IS NOW COMPLETE, ENJOY YOUR NEW INDASH BY PANAVISE MOUNT!

Final Install Picture,

Jeep Commander

Final Install Picture

Jeep Grand Cherokee

Start  here for: JEEP-Commander 08-10

STEP#1: With dash tool, lift up on the shifter bezel trim ring, releasing (4)

ratcheting clips. Pry  up the shifter bezel releasing (4) clips and set aside.

STEP#2: With hook toll release the bezel that surrounds the radio includes the

climate control and lower switches. Begin by inserting the hook tool in the lower

left corner of the bezel using the holes at the bottom of the bezel. Work your

way up to the top of the bezel (7) total clips.

STEP#3: Remove the (2)  screws on the right side of the radio. Install bottom

piece of InDash by PanaVise Mount over screw holes and reinstall the (2)

screws. Replace the bezels in reverse order.

STEP#4: Install the top part of InDash by PanaVise Mount with the (2) Acorn

nuts.
INSTALLATION IS NOW COMPLETE, ENJOY YOUR NEW INDASH BY PANAVISE MOUNT!

* *  ADVISEMENT  * *
Read instructions completely prior to

starting installation. All InDash Mounts

are designed so that after installation, phone

is facing normal driver position for left-

hand drive vehicles. This mount is not

designed to be used in foreign countries

with right-hand drive vehicles. Use extreme

care when working around the plastic

components on the dash.  Excess force, can

cause breakage of  the plastic components.

:PART#:751052008 **

MFG: CHRYSLER/DODGE/JEEP/VW

MODELS & YEARS:
JEEP-Wrnglr/Ultd.(8-10)pg.1Wrangler(11-17),JK(2018)pg.2

Liberty(8-12),CHRY-200(11-14)pg.3DODGE:Dakota(8-11)CHRY-

Sebrng&conv(7-10)pg.4

DODGE-Avenger(8-10),Avenger(11-14)pg.5

JEEP-GrCherokee(8-10)Cmnder(8-10)pg.6

DODGE-GR.Caravan(8-10)(11-17),CHRY-T&C(8-10)(11-16)pg.7

JEEP-Patriot(09-15)Compass(09-11)pg.8

CHRY-300C(8-10),Magnm(08),Charger(8-10)pg.9

DODGE-Durango(8-09)Aspen(8-09)pg.10

DODGE-Challenger(9-14)pg.11Nitro(8-11)pg.11

Caliber(9-10)(11-12)pg.11Journey.ex.R/T(09-10)pg.12

DODGE-RAM 1500(9-12)2500-5500cons.shft,pg.12

2500-5500cons.shft,(10-12)pg.12

DODGE-RAM 1500(9-11)2500-5500cons.shft,pg.12

RAM 1500(9-11)colmn.shft,pg.12

RAM 2500-5500(10-11)cons.shft,pg.12VW-Routan13-15,pg.12



CELL PHONE & MEDIA MOUNT

INSTALLATION INSTRUCTIONS

I-751052008
Page 7 of  12

MOUNTING LOCATION:

Right side of radio cavity K R

(2) Locations, Lower R and Upper R

TOOLS REQUIRED:

Hook tool, Dash Tool, 7mm

socket

Phillips screwdriver, T-20 Torx

HARDWARE INCLUDED:

75001 Top W/ (2) O - 8-32 Acorn Nuts

(Radio, MiGig/Nav Mount)

There may be recent updates to this Instruction Sheet, please visit our website or contact PanaVise Products, Inc. for the latest revision as well as for the most

complete up-to-date PanaVise InDash Applications List:  7540 Colbert Dr., Reno, NV, Phone: 800.759.7535, 775.850.2900, Fax: 800.395.8002,

www.panavise.com. © 2016 PanaVise Products, Inc.

12-13-17

Start Here for Dodge-Grand Caravan & Chrysler T&C (2008-2010):

STEP#1: With hook Tool open (2) small covers under the overhang of the

radio. (Use the inside cracks to pry out).

STEP#2: With Phillips screwdriver remove the (2) screws under covers. Lift up

on the long cover that goes from the top of the radio to the defroster bezel.

There are (2) clips, (1) on each side of cover. Do not take cover off all the way.

Prop it up with something.

STEP#3: Remove the (2) Phillips screws above the radio and set aside. Pull on

the top of the radio / climate control / cubby bezel enough to get at the (2)

Phillips screws on the right side of the radio. Remove the (2) screws with

Phillips screwdriver. Install bottom piece of InDash by PanaVise Mount over

screw holes and reinstall the (2) screws. Replace the bezel.

STEP#3: Install the top part of InDash by PanaVise Mount with the (2) Acorn

nuts. Replace the bezels in reverse order.

INSTALLATION IS NOW COMPLETE, ENJOY YOUR NEW INDASH BY PANAVISE MOUNT!

Cover Removal and screws

under cover

Mount installed on 08-10

Start Here for Dodge-Grand Caravan & Chrysler T&C (2011-17/14)&VW

Routan  2010-2011:

STEP#1: With  Dash Tool pry the top of the bezel surrounding the radio out

slightly. With Hook Tool pull out the bezel. (2) clips at the sides of the radio.

STEP#2: With 9/32 socket, remove the (2) screws on the right side of the radio.

Place the InDash by PanaVise Mount over the holes and replace the screws.

STEP#3: Replace the radio bezel, and install the top part (75001) of the mount

with the 5/16" socket.

INSTALLATION IS NOW COMPLETE, ENJOY YOUR NEW INDASH BY PANAVISE MOUNT!

Mount installed on 2011

* *  ADVISEMENT  * *
Read instructions completely prior to

starting installation. All InDash Mounts

are designed so that after installation, phone

is facing normal driver position for left-

hand drive vehicles. This mount is not

designed to be used in foreign countries

with right-hand drive vehicles. Use extreme

care when working around the plastic

components on the dash.  Excess force, can

cause breakage of  the plastic components.

:PART#:751052008 **

MFG: CHRYSLER/DODGE/JEEP/VW

MODELS & YEARS:
JEEP-Wrnglr/Ultd.(8-10)pg.1Wrangler(11-17),JK(2018)pg.2

Liberty(8-12),CHRY-200(11-14)pg.3DODGE:Dakota(8-11)CHRY-

Sebrng&conv(7-10)pg.4

DODGE-Avenger(8-10),Avenger(11-14)pg.5

JEEP-GrCherokee(8-10)Cmnder(8-10)pg.6

DODGE-GR.Caravan(8-10)(11-17),CHRY-T&C(8-10)(11-16)pg.7

JEEP-Patriot(09-15)Compass(09-11)pg.8

CHRY-300C(8-10),Magnm(08),Charger(8-10)pg.9

DODGE-Durango(8-09)Aspen(8-09)pg.10

DODGE-Challenger(9-14)pg.11Nitro(8-11)pg.11

Caliber(9-10)(11-12)pg.11Journey.ex.R/T(09-10)pg.12

DODGE-RAM 1500(9-12)2500-5500cons.shft,pg.12

2500-5500cons.shft,(10-12)pg.12

DODGE-RAM 1500(9-11)2500-5500cons.shft,pg.12

RAM 1500(9-11)colmn.shft,pg.12

RAM 2500-5500(10-11)cons.shft,pg.12VW-Routan13-15,pg.12



CELL PHONE & MEDIA MOUNT

INSTALLATION INSTRUCTIONS

I-751052008
Page 8 of  12

MOUNTING LOCATION:

Right side of radio cavity K R

(2) Locations, Lower R and Upper R

TOOLS REQUIRED:

Hook tool, Dash Tool, 7mm

socket

Phillips screwdriver, T-20 Torx

HARDWARE INCLUDED:

75001 Top W/ (2) O - 8-32 Acorn Nuts

(Radio, MiGig/Nav Mount)

There may be recent updates to this Instruction Sheet, please visit our website or contact PanaVise Products, Inc. for the latest revision as well as for the most

complete up-to-date PanaVise InDash Applications List:  7540 Colbert Dr., Reno, NV, Phone: 800.759.7535, 775.850.2900, Fax: 800.395.8002,

www.panavise.com. © 2016 PanaVise Products, Inc.

12-13-17

Start Here for Jeep- Patriot 09-15 & Compass: 09-11

STEP#1: With Dash tool, begin to remove the bezel that surrounds the radio

and includes the climate control and air vents. Start at the bottom corners

releasing 1 clip each side. Continue up the bezel releasing (1) clip on each side

of the radio, (1) clip on each side of the air vents, and (3) plastic clips above the

air vents

STEP#2: Remove the (2) Phillips screws on the right side of the radio and

install the bottom part of the InDash by PanaVise Mount, tighten the (2) screws

making sure the mount is pressed flush up against the radio.

STEP#3: Install the Radio, air vent , climate control bezel.

NOTE: If the bezel does not fit into the side by the InDash Mount. Pull off the

bezel and take the clip to the right of where the mount is and cut away part of

the inside of the tab that hits the InDash Mount so the bezel can fit back in

place.

INSTALLATION IS NOW COMPLETE, ENJOY YOUR NEW INDASH BY PANAVISE MOUNT!

Install Picture of InDash

 in place in new Jeep Patriot

and Compass

Install Picture of bottom

part  of mount on radio

* *  ADVISEMENT  * *
Read instructions completely prior to

starting installation. All InDash Mounts

are designed so that after installation, phone

is facing normal driver position for left-

hand drive vehicles. This mount is not

designed to be used in foreign countries

with right-hand drive vehicles. Use extreme

care when working around the plastic

components on the dash.  Excess force, can

cause breakage of  the plastic components.

:PART#:751052008 **

MFG: CHRYSLER/DODGE/JEEP/VW

MODELS & YEARS:
JEEP-Wrnglr/Ultd.(8-10)pg.1Wrangler(11-17),JK(2018)pg.2

Liberty(8-12),CHRY-200(11-14)pg.3DODGE:Dakota(8-11)CHRY-Sebrng&conv(7-10)pg.4

DODGE-Avenger(8-10),Avenger(11-14)pg.5

JEEP-GrCherokee(8-10)Cmnder(8-10)pg.6

DODGE-GR.Caravan(8-10)(11-17),CHRY-T&C(8-10)(11-16)pg.7

JEEP-Patriot(09-15)Compass(09-11)pg.8

CHRY-300C(8-10),Magnm(08),Charger(8-10)pg.9

DODGE-Durango(8-09)Aspen(8-09)pg.10

DODGE-Challenger(9-14)pg.11Nitro(8-11)pg.11

Caliber(9-10)(11-12)pg.11Journey.ex.R/T(09-10)pg.12

DODGE-RAM 1500(9-12)2500-5500cons.shft,pg.12

2500-5500cons.shft,(10-12)pg.12

DODGE-RAM 1500(9-11)2500-5500cons.shft,pg.12

RAM 1500(9-11)colmn.shft,pg.12

RAM 2500-5500(10-11)cons.shft,pg.12VW-Routan13-15,pg.12



CELL PHONE & MEDIA MOUNT

INSTALLATION INSTRUCTIONS

I-751052008
Page 9 of 12

MOUNTING LOCATION:

Right side of radio cavity K R

(2) Locations, Lower R and Upper R

TOOLS REQUIRED:

Hook tool, Dash tool

Phillips screwdriver

HARDWARE INCLUDED:

75001 Top W/ (2) O - 8-32 Acorn Nuts

(Radio, MiGig/Nav Mount)

There may be recent updates to this Instruction Sheet, please visit our website or contact PanaVise Products, Inc. for the latest revision as well as for the most

complete up-to-date PanaVise InDash Applications List:  7540 Colbert Dr., Reno, NV, Phone: 800.759.7535, 775.850.2900, Fax: 800.395.8002,

www.panavise.com. © 2016 PanaVise Products, Inc.

12-13-17

Start Here for Chrysler 300C 08-10,Dodge Magnum 2008 & Charger 08-10

STEP#1: With hook tool remove the center bezel that surrounds the radio/nav,

and includes the climate control and air vents. Begin to release the clips up at

the top corner by the air vents. Pull to release (1) clip and then (2) more clips at

the top of the radio bezel. There are (2) more clips located about half way down

the side of the bezel, and (2) more clips at the bottom sides of the climate

control. Pull out the bezel and set it off to the left enough to get at the Radio/

Nav screws. You may have to release (2) clips at the top of the ash tray bezel

while pulling off the Radio/Nav bezel.

STEP#2:  Remove the (2) Phillips screws on the right side of the radio and set

aside. Pull on the top of the radio / climate control / cubby bezel enough to get

at the (2) Phillips screws on the right side of the radio. Remove the (2) screws

with Phillips screwdriver. Install bottom piece of InDash by PanaVise Mount

over screw holes and reinstall the (2) screws. Replace the bezel.

STEP#3: Install the top part of InDash by PanaVise Mount with the (2) Acorn

nuts. Replace the bezels in reverse order.

INSTALLATION IS NOW COMPLETE, ENJOY YOUR NEW INDASH BY PANAVISE MOUNT!

Install Picture of InDash in place

On 300c and Magnum

Bezel removed picture

* *  ADVISEMENT  * *
Read instructions completely prior to

starting installation. All InDash Mounts

are designed so that after installation, phone

is facing normal driver position for left-

hand drive vehicles. This mount is not

designed to be used in foreign countries

with right-hand drive vehicles. Use extreme

care when working around the plastic

components on the dash.  Excess force, can

cause breakage of  the plastic components.

:PART#:751052008 **

MFG: CHRYSLER/DODGE/JEEP/VW

MODELS & YEARS:
JEEP-Wrnglr/Ultd.(8-10)pg.1Wrangler(11-17),JK(2018)pg.2

Liberty(8-12),CHRY-200(11-14)pg.3DODGE:Dakota(8-11)CHRY-Sebrng&conv(7-10)pg.4

DODGE-Avenger(8-10),Avenger(11-14)pg.5

JEEP-GrCherokee(8-10)Cmnder(8-10)pg.6

DODGE-GR.Caravan(8-10)(11-17),CHRY-T&C(8-10)(11-16)pg.7

JEEP-Patriot(09-15)Compass(09-11)pg.8

CHRY-300C(8-10),Magnm(08),Charger(8-10)pg.9

DODGE-Durango(8-09)Aspen(8-09)pg.10

DODGE-Challenger(9-14)pg.11Nitro(8-11)pg.11

Caliber(9-10)(11-12)pg.11Journey.ex.R/T(09-10)pg.12

DODGE-RAM 1500(9-12)2500-5500cons.shft,pg.12

2500-5500cons.shft,(10-12)pg.12

DODGE-RAM 1500(9-11)2500-5500cons.shft,pg.12

RAM 1500(9-11)colmn.shft,pg.12

RAM 2500-5500(10-11)cons.shft,pg.12VW-Routan13-15,pg.12



Start here for Durango 08-09 & Aspen 08-09

STEP #1: With hook tool remove the cover below the seat heaters and power

outlet. With 9/32"(7mm) socket and ratchet remove the (2) screws located

below the power outlet, seat heater , small cubby box. With your hands start to

pull out the bezel that surrounds the radio, and includes the climate control,

air vents, and power outlets. Tilt it up form the bottom releasing a total of (6)

clips. These clips are located (2) to the L & R of the climate control, (2) to the

L & R of the Radio, and (2) to the L & R of the air vents. Tilt the bezel out

and down to release the lip at the top of the bezel.

STEP #2: Move the radio / climate control / cubby bezel aside enough to get

at the (2) Phillips screws on the right side of the radio. Remove the (2) screws

with Phillips screwdriver. Install bottom piece of InDash by PanaVise Mount

over screw holes and reinstall the (2) screws. Replace the bezel.

STEP#3: Install the top part of InDash by PanaVise Mount with the (2) Acorn

nuts. Replace the bezels in reverse order.
INSTALLATION IS NOW COMPLETE.  ENJOY YOUR NEW INDASH by PANAVISE MOUNT.

InDash installed  showing  location

with MyGig /Nav on Aspen

Screws below bezel

CELL PHONE & MEDIA MOUNT

INSTALLATION INSTRUCTIONS

I-751052008
Page 10 of  12

There may be recent updates to this Instruction Sheet, please visit our website or contact PanaVise Products, Inc. for the latest revision as well as for the most

complete up-to-date PanaVise InDash Applications List:  7540 Colbert Dr., Reno, NV, Phone: 800.759.7535, 775.850.2900, Fax: 800.395.8002,

www.panavise.com. © 2016 PanaVise Products, Inc.

12-13-17

MOUNTING LOCATION:

Right side of climate control  C R

TOOLS REQUIRED:

Hook tool, Dash tool

9/32" Socket and ratchet/ Driver

Phillips head screwdriver

HARDWARE INCLUDED:
(  1 ) A - #8X9/16 Needle Point Screw

75001 Top W/ (2) O - 8-32 Acorn Nuts

Bottom part in place without

Nav

(Radio, MiGig/Nav Mount)

* *  ADVISEMENT  * *
Read instructions completely prior to

starting installation. All InDash Mounts

are designed so that after installation, phone

is facing normal driver position for left-

hand drive vehicles. This mount is not

designed to be used in foreign countries

with right-hand drive vehicles. Use extreme

care when working around the plastic

components on the dash.  Excess force, can

cause breakage of  the plastic components.

:PART#:751052008 **

MFG: CHRYSLER/DODGE/JEEP/VW

MODELS & YEARS:
JEEP-Wrnglr/Ultd.(8-10)pg.1Wrangler(11-17),JK(2018)pg.2

Liberty(8-12),CHRY-200(11-14)pg.3DODGE:Dakota(8-11)CHRY-

Sebrng&conv(7-10)pg.4

DODGE-Avenger(8-10),Avenger(11-14)pg.5

JEEP-GrCherokee(8-10)Cmnder(8-10)pg.6

DODGE-GR.Caravan(8-10)(11-17),CHRY-T&C(8-10)(11-16)pg.7

JEEP-Patriot(09-15)Compass(09-11)pg.8

CHRY-300C(8-10),Magnm(08),Charger(8-10)pg.9

DODGE-Durango(8-09)Aspen(8-09)pg.10

DODGE-Challenger(9-14)pg.11Nitro(8-11)pg.11

Caliber(9-10)(11-12)pg.11Journey.ex.R/T(09-10)pg.12

DODGE-RAM 1500(9-12)2500-5500cons.shft,pg.12

2500-5500cons.shft,(10-12)pg.12

DODGE-RAM 1500(9-11)2500-5500cons.shft,pg.12

RAM 1500(9-11)colmn.shft,pg.12

RAM 2500-5500(10-11)cons.shft,pg.12VW-Routan13-15,pg.12



INSTALLATION INSTRUCTIONS

751052008
Page 11 of  12

There may be recent updates to this Instruction Sheet, please visit our website or contact PanaVise Products, Inc. for the latest revision as well as for the most

complete up-to-date PanaVise InDash Applications List:  7540 Colbert Dr., Reno, NV, Phone: 800.759.7535, 775.850.2900, Fax: 800.395.8002,

www.panavise.com. © 2016 PanaVise Products, Inc.

12-13-17

CELL PHONE & MEDIA MOUNT
MOUNTING LOCATION:

Right Side of Radio Cavity K R

TOOLS REQUIRED:

Dash Tool, Hook Tool

Phillips Screwdriver, T-20 Torx

HARDWARE INCLUDED:
75001 Top W/ (2) O - 8-32 Acorn Nuts

(Radio, MiGig/Nav Mount)

Start here for DODGE Challenger  (R-L) 09-13:

STEP #1: With dash tool remove the bezel that surrounds the radio, and includes the climate

control and switches. Releasing clips. Disconnect plugs if necessary and set aside.

STEP #2:  Remove the (2) screws to the right side of the radio. Install bottom piece of InDash

by PanaVise Mount over screw holes and reinstall the (2) screws. Replace the bezel.

STEP#3: Install the top part of InDash by PanaVise Mount with the (2) Acorn nuts. Replace the

bezels in reverse order. Install the top part of InDash by PanaVise Mount with the

(2) Acorn nuts.

Start  here for DODGE Caliber Only (R) 09-10:

STEP #1: Shift vehicle into DorL. With Dash Tool remove the bezel that surrounds the shifter

releasing (4) clips. With Dash Tool remove the bezel that surrounds the Radio/Climate

Control & Air Vents. Start at the bottom to release all the clips.

STEP #2: With Phillips screwdriver remove (2) right side radio screws. Place the InDash by

PanaVise Mount over the screw holes and replace the screw. Replace the bezels in reverse

order. Install the top part of InDash by PanaVise Mount with the (2) Acorn nuts.

Install Picture of InDash

on 09 Dodge Caliber

Install Picture of InDash on

Dodge Nitro

Install Picture of InDash on

Challenger

Start  here for DODGE Caliber Only 11-12:

STEP #1: Shift vehicle into DorL. With Dash Tool remove the bezel that surrounds the shifter

releasing (4) clips. With Hook Tool remove the switch bezel and disconnect plugs. with

Phillips screwdriver remove the (2) screws below climate control. Open the top of dash storage

bin and remove the (1) screw. Pull from the bottom to release the bezel that surrounds the

Radio/Climate Control & Air Vents. Start at the bottom to release all  clips.

STEP #2: With Phillips screwdriver remove (2) right side radio screws. Place the InDash by

PanaVise Mount over the screw holes and replace the screw. Replace the bezels in reverse

order. Install the top part of InDash by PanaVise Mount with the (2) Acorn nuts.

* *  ADVISEMENT  * *
Read instructions completely prior to

starting installation. All InDash Mounts

are designed so that after installation, phone

is facing normal driver position for left-

hand drive vehicles. This mount is not

designed to be used in foreign countries

with right-hand drive vehicles. Use extreme

care when working around the plastic

components on the dash.  Excess force, can

cause breakage of  the plastic components.

:PART#:751052008 **

MFG: CHRYSLER/DODGE/JEEP/VW

MODELS & YEARS:
JEEP-Wrnglr/Ultd.(8-10)pg.1Wrangler(11-17),JK(2018)pg.2

Liberty(8-12),CHRY-200(11-14)pg.3DODGE:Dakota(8-11)CHRY-

Sebrng&conv(7-10)pg.4

DODGE-Avenger(8-10),Avenger(11-14)pg.5

JEEP-GrCherokee(8-10)Cmnder(8-10)pg.6

DODGE-GR.Caravan(8-10)(11-17),CHRY-T&C(8-10)(11-16)pg.7

JEEP-Patriot(09-15)Compass(09-11)pg.8

CHRY-300C(8-10),Magnm(08),Charger(8-10)pg.9

DODGE-Durango(8-09)Aspen(8-09)pg.10

DODGE-Challenger(9-14)pg.11Nitro(8-11)pg.11

Caliber(9-10)(11-12)pg.11Journey.ex.R/T(09-10)pg.12

DODGE-RAM 1500(9-12)2500-5500cons.shft,pg.12

2500-5500cons.shft,(10-12)pg.12

DODGE-RAM 1500(9-11)2500-5500cons.shft,pg.12

RAM 1500(9-11)colmn.shft,pg.12

RAM 2500-5500(10-11)cons.shft,pg.12VW-Routan13-15,pg.12



INSTALLATION INSTRUCTIONS

751052008
Page 12 of  12

12-13-17

MOUNTING LOCATION:

Right Side of Radio Cavity K R

TOOLS REQUIRED:

Dash Tool, Hook Tool

Phillips Screwdriver, T-20 Torx

HARDWARE INCLUDED:
75001 Top W/ (2) O - 8-32 Acorn Nuts

(Radio, MiGig/Nav Mount)

Start here for DODGE Journey 09-10 (Except R/T Model TBD):

STEP #1: With Dash Tool remove the bezel that surrounds the Radio/Climate Control & Air

Vents. Start at the bottom to release all the clips.

STEP #2: With T-15 Torx driver remove (2) right side radio screws. Place the InDash by

PanaVise Mount over the screw holes and replace the screw. Replace the bezels in reverse

order. Install the top part of InDash by PanaVise Mount with the (2) Acorn nuts.

Start here for DODGE RAM 1500 09-11 & (2500-5500) with CONSOLE Shift Only:

STEP# 1: Remove upper&lower center bezel tray liners. Remove (2) T-20 screws under each.

STEP# 2. Using a dash tool, release the clips that secure the power outlet trim bezel  to the

center bezel.

STEP# 3. Release the five center bezel clips. (2) on top of bezel, (1) by the power outlet, (2)

at the bottom of the bezel.

STEP# 4. Using a dash tool, release the clips that secure the trim ring to the console.

STEP# 5. Using a dash tool, release the clips that secure the shifter bezel to the floor console.

If needed open small cover door to the drivers side under consle and use dash tool to push up

to release console top.

STEP# 6. Using a dash tool, release the clips that secure the instrument panel center bezel to

the instrument panel.  There are (12) total clips holding bezel assembly in place.

STEP# 7. Disconnect connector plugs if necessary(4), remove center bezel from the vehicle.

STEP #8: With T-20 Torx driver remove (2) right side radio screws. Place the InDash by

PanaVise Mount over the screw holes and replace the screw. Replace the bezels.

Start here for DODGE RAM 1500 09-11 with COLUMN Shift Only:

STEP# 1: Remove upper center tray liners. Remove (2) T-20 Torx screws under liner.

STEP# 2:  Using a dash tool, release the clips that secure the instrument panel center bezel to

the instrument panel. There are (12) total clips holding bezel assembly in place.

STEP# 3: Disconnect connector plugs if necessary (4) and remove the center bezel.

STEP# 4: With T-20 Torx driver remove (2) right side radio screws. Place the InDash by

PanaVise Mount over the screw holes and replace the screw.

STEP# 5: Replace the bezels in reverse order.

Install Picture of InDash

on Dodge Journey

Install Picture of InDash

of Dodge Ram 1500

Start here DODGE RAM 2500-5500 10-11(For Console Model, see 1500 Console Inst.)

STEP# 1: Remove upper center tray liners. Remove (2) T-20 Torx screws under liner.

STEP# 2: With hook tool remove the cover surrounding the 115V power outlet. Remove torx

screw and set aside.

STEP# 2:  Using a dash tool, release the clips that secure the instrument panel. There are (14)

total clips holding bezel assembly in place.

STEP# 3: Disconnect connector plugs if necessary (4) and remove the center bezel.

STEP# 4: With T-20 Torx driver remove (2) right side radio screws. Place the InDash by

PanaVise Mount over the screw holes and replace the screw.

STEP# 5: Install top piece of Mount with 5/16 socket. Replace the bezels in reverse order.

There may be recent updates to this Instruction Sheet, please visit our website or contact PanaVise Products, Inc. for the latest revision as well as for the most

complete up-to-date PanaVise InDash Applications List:  7540 Colbert Dr., Reno, NV, Phone: 800.759.7535, 775.850.2900, Fax: 800.395.8002,

www.panavise.com. © 2016 PanaVise Products, Inc.

* *  ADVISEMENT  * *
Read instructions completely prior to

starting installation. All InDash Mounts

are designed so that after installation, phone

is facing normal driver position for left-

hand drive vehicles. This mount is not

designed to be used in foreign countries

with right-hand drive vehicles. Use extreme

care when working around the plastic

components on the dash.  Excess force, can

cause breakage of  the plastic components.

:PART#:751052008 **

MFG: CHRYSLER/DODGE/JEEP/VW

MODELS & YEARS:
JEEP-Wrnglr/Ultd.(8-10)pg.1Wrangler(11-17),JK(2018)pg.2

Liberty(8-12),CHRY-200(11-14)pg.3DODGE:Dakota(8-11)CHRY-

Sebrng&conv(7-10)pg.4

DODGE-Avenger(8-10),Avenger(11-14)pg.5

JEEP-GrCherokee(8-10)Cmnder(8-10)pg.6

DODGE-GR.Caravan(8-10)(11-17),CHRY-T&C(8-10)(11-16)pg.7

JEEP-Patriot(09-15)Compass(09-11)pg.8

CHRY-300C(8-10),Magnm(08),Charger(8-10)pg.9

DODGE-Durango(8-09)Aspen(8-09)pg.10

DODGE-Challenger(9-14)pg.11Nitro(8-11)pg.11

Caliber(9-10)(11-12)pg.11Journey.ex.R/T(09-10)pg.12

DODGE-RAM 1500(9-12)2500-5500cons.shft,pg.12

2500-5500cons.shft,(10-12)pg.12

DODGE-RAM 1500(9-11)2500-5500cons.shft,pg.12

RAM 1500(9-11)colmn.shft,pg.12

RAM 2500-5500(10-11)cons.shft,pg.12VW-Routan13-15,pg.12


